## **KEYWORTH CRICKET CLUB - 2005 SEASON**

**President:** A Copson **Chairman:** M Burton

Vice Presidents: B Baker, D Baldrey, J Cottee, J Dealler, J Disney, J Dring, J Dye, M Elliott,

J Hartley, G Heeley, J Keeling, A Morris, H Pick, M Stewart, G Ward, M White. **Hon Vice President**: Mary Hinchliffe **Gen Sec:** C Anderson **Treasurer**: J Woodford

Gen Sec: C Anderson

1<sup>st</sup> XI Captain: S Rendu

2<sup>nd</sup> XI Captain: A Cowlard

Treasurer: J Woodford

Vice Capt: S Meek

Vice Capt: ?

**Groundsman:** M White. **Umpire:** M Elliott, H Pick.

### **Review of the Season:**

After losing three of their first four games, the 1<sup>st</sup> XI got themselves into a promotion position, only to lose the last two games and drop out down to the third place

The outstanding performance of the year was in the quarter final of the Popkess Senior Cup, beating the previously undefeated in the season, Division A leaders Long Eaton on their own ground, no doubt inspired by the Brass Band giving a concert nearby. Chasing a modest total of 180, thanks to Rob Baker's 4-22, an opening partnership of 76 was followed by a mini collapse, before Baker 36\* and Warren Dessaur 32\* clinched the vistory.

New all rounder Ian Graham made a big impact with bat and ball and featured with Chris Ladd in an opening stand of 205 out of an innings of 300 for 6 off the allotted 48 overs against Kimberley Institute. The opposition were then skittled out for 81, with Sam Bradley 4-27 leading the way and setting up a massive 219 run victory.

Trophies presented for the season included...

Frank Palmer Memorial Cup for Outstanding performance to Ian Graham.

Player of the Year – Stuart Meek

2<sup>nd</sup> XI Player of the Year – Chris Legge for blowing Willoughby away with a career best spell of 7-26.

Batting Trophy for the Best Average – Ian Graham

2<sup>nd</sup> XI Batting Trophy for the Best Average – Ernie Lay

Bowling Trophy for Best Average – Rob Baker

2<sup>nd</sup> XI Bowling Trophy for Best Average – Tony Spence

Fielding Trophy – Chris Ladd & John Beeton

Chris Keeling Champagne Moment Trophy - Ian Graham & Alex Ball

Alan Copson 6's Trophy – Ian Graham

### 1<sup>st</sup> XI LEAGUE MATCH RESULTS...

30.04.05	KIRKBY PORTLAND	A	Lost by 1 run
07.05.05	WEST BRIDGFORDIANS	Η	Lost by 4 wkts
14.05.05	KIMBERLEY INSTITUTE II	Η	Won by 219 runs
21.05.05	RADCLIFFE on Trent II	A	Lost by 6 wkts
28.05.05	THURGARTON	Η	Won by 211 runs
04.06.05	THRUMPTON	A	Lost by 6 wkts
11.06.05	WEST BRIDGFORDIANS	A	Won by 1 wkt
18.06.05	RADCLIFFE on Trent II	Н	Won by 139 runs
25.06.05	WILSONS	A	Won by 5 wkts
02.07.05	KIRKBY PORTLAND	Н	Won by 71 runs
16.07.05	HUCKNALL	A	Won by 2 wkts
23.07.05	WILSONS	Н	Won by 6 wkts
30.07.05	KIMBERLEY INSTITUTE II	A	Lost by 82 runs
06.08.05	THRUMPTON	Н	Won by 9 wkts
13.08.05	HUCKNALL	Н	Match Abandoned – Rain
20.08.05	THURGARTON	A	Won by 6 wkts
27.08.05	NOTTINGHAM	Н	Lost by 7 wkts
03.09.05	NOTTINGHAM	Α	Lost by 10 runs

## HSBC South Nottinghamshire Cricket League SENIOR LEAGUE POPKESS CUP...

2 <sup>nd</sup> Round	03.07.05	LONG EATON	A	Won by 5 wkts
Quarter Final	07.08.05	PLUMTREE	A	Lost by 34 runs

Gunn & Moore South Nottinghamshire Cricket LEAGUE Table – DIVISION C
--

		Pld	W	L	wD	ID	NK	Pts	Ave
1	WEST BRIDGFORDIANS (p)	18	11	2	0	2	3	250	16.70
2	KIMBERLEY INSTITUTE II (p)	18	9	3	3	2	1	254	14.90
3	KEYWORTH	18	9	6	1	1	1	229	13.50
4	HUCKNALL	18	8	7	0	1	2	201	12.60
5	THRUMPTON	18	6	6	2	1	3	185	12.30
6	KIRKBY PORTLAND	18	6	7	3	1	1	206	12.10
7	NOTTINGHAM	18	7	8	0	1	2	174	10.90
8	WILSONS (r)	18	4	9	2	0	3	138	9.20
9	THURGARTON (r)	18	4	11	1	0	2	136	8.50
10	RADCLIFFE Upon Trent II (r)	18	4	9	0	3	2	124	7.80

**HIGHEST SCORE:** 300-6 KEYWORTH v KIMBERLEY INSTITUE II (14.05.05)

**LOWEST SCORE: 69 KEYWORTH** v WEST BRIDGFORDIANS (07.05.05)

1 <sup>st</sup>	XI BATTING Averages	(qualification: 6	Completed Innings)

1st XI BAT	1 <sup>st</sup> XI BATTING Averages (qualification : 6 Completed Innings)						
		Matches	Innings	Not Out	HS	Total Runs	Ave
	I GRAHAM	11	11	0	150	573	52.10
	C LADD	14	13	1	66	447	37.30
	S MEEK	15	14	3	61	353	32.10
	S RENDU	16	15	2	99*	335	25.80
	S BRADLEY	13	13	0	58	328	25.20
	W DESSAUR	10	10	3	34	141	20.10
	G TINDSLEY	16	16	1	56	286	19.10
	R A BAKER	14	13	2	36*	130	11.80
	A ELLIOTT	17	15	1	52	158	11.30
Also Batte	d						
	R DRURY	5	5	2	41*	91	30.30
	D COLLISON	7	6	3	16	37	12.30
	A BALL	2	1	2	11	11	11.00
	R BEAKE	9	9	4	29	52	10.40
	B ELLIOTT	12	7	2	9	29	5.80
	S TUCKWELL	8	4	2	2	5	2.50
	D HILLER	11	5	1	6*	9	2.30
	A COWLARD	1	0	0	0	0	0.00
	L ELLIOTT	4	0	0	0	0	0.00
	A GREEN	4	1	1	0	0	0.00
	A HILLER	8	5	5	11*	34	0.00
	S THOMAS	3	1	0	0	0	0.00
	N TUCKWELL	3	1	0	0	0	0.00
	K WILCOX	2	0	0	0	0	0.00

## Best off the Bat...

Runs	Player		Opposition	Venue	Date
150	I GRAHAM	V	HUCKNALL	A	16.07.05
132	I GRAHAM	V	KIMBERLEY INSTITUTE II	H	14.05.05
132	I GRAHAM	V	THURGARTON	H	28.05.05
99*	S RENDU	V	RADCLIFFE on Trent II	H	18.06.05
66	C LADD	V	KIMBERLEY INSTITUTE II	H	14.05.05
61	S MEEK	V	RADCLIFFE on Trent II	H	18.06.05
60	C LADD	V	RADCLIFFE on Trent II	Α	21.05.05

## **Best Batting Partnerships of the Season**

	Runs	Partners	Opposition	Date
1 <sup>st</sup> wkt	205	C LADD & I GRAHAM	KIMBERLEY INSTITUTE II	14.05.05
2 <sup>nd</sup> wkt	108	I GRAHAM & G TINDSLEY	THURGARTON	28.05.05
3 <sup>rd</sup> wkt	97	C LADD & S RENDU	KIRKBY PORTLAND	30.04.05
4 <sup>th</sup> wkt	80	A ELLIOTT & S RENDU	KIRKBY PORTLAND	02.07.05
5 <sup>th</sup> wkt	76	S RENDU & S MEEK	THRUMPTON	04.06.05
6 <sup>th</sup> wkt	65	W DESSAUR & R A BAKER	LONG EATON (Cup 2 <sup>nd</sup> rd)	03.07.05
7 <sup>th</sup> wkt	51	A ELLIOTT & R BEAKE	KIRKBY PORTLAND	30.04.05
8 <sup>th</sup> wkt	128	S RENDU & S MEEK	RADCLIFFE on Trent II	18.06.05
9 <sup>th</sup> wkt	22	R BEAKE & B ELLIOTT	RADCLIFFE on Trent II	21.05.05
10 <sup>th</sup> wkt	15	A HILLER & D HILLER	PLUMTREE (Cup q/f)	07.08.05
Other major P	artnersl	nips of the Season		
1 <sup>st</sup> wkt	130	C LADD & I GRAHAM	THURGARTON	28.05.05

## Leading "6" Hitters of the season...

I GRAHAM	19
S MEEK	10
R A BAKER	5
C LADD	4
S BRADLEY	2
A ELLIOTT	2
A BALL	1
R BEAKE	1
D COLLISON	1
S RENDU	1

## $\mathbf{1}^{\text{st}}$ XI BOWLING Averages (qualification 8 wickets or 60 overs)

	Overs	Maidens	Runs	Wkts	Ave
R A BAKER	159	34	488	34	14.35
S MEEK	95	32	215	14	15.36
I GRAHAM	92.1	14	299	19	15.74
S RENDU	141.2	23	473	27	17.52
D HILLER	81	13	341	17	20.06
S BRADLEY	92.2	12	402	16	25.13
G TINDSLEY	80	15	223	7	31.86
Also bowled					
A HILLER	17	3	71	2	35.50
W DESSAUR	13	0	61	1	61.00
R DRURY	3	0	18	0	0.00
L ELLIOTT	3	0	6	0	0.00
Dogs wildle sho Doll					

## **Best with the Ball...**Figures

Player		Opposition	Venue	Date
S BRADLEY	V	WILSONS	A	25.06.05
R A BAKER	V	KIMBERLEY INSTITUTE II	A	30.07.05
R A BAKER	V	WEST BRIDGFORDIANS	A	11.06.05
	S BRADLEY R A BAKER	S BRADLEY V R A BAKER V	S BRADLEY V WILSONS R A BAKER V KIMBERLEY INSTITUTE II	S BRADLEY V WILSONS A R A BAKER V KIMBERLEY INSTITUTE II A

1 <sup>st</sup> XI CATCHING & STUMPING:					
	Catches	Stumpings			
A ELLIOTT	25	3			
C LADD	6				
S BRADLEY	5				
B ELLIOTT	5				
I GRAHAM	4				
R A BAKER	3				
R BEAKE	3				
A HILLER	3				
S MEEK	3				
S RENDU	3				
A BALL	1				
L ELLIOTT	1				
D HILLER	1				
G TINDSLEY	1				
W DESSAUR	0	1			

# 2<sup>nd</sup> XI LEAGUE MATCH RESULTS...

30.04.05	NEWSTEAD ABBEY III	Η	Lost by 3 wkts
07.05.05	NEWSTEAD ABBEY III	Α	Won by 3 wkts
14.05.05	CHILWELL II	Α	Won by 6 wkts
21.05.05	BALDERTON II	Н	Match abandoned
28.05.05	UNDERWOOD II	Α	Won by 31 runs
04.06.05	BASFORD HALL OLD BOYS	Н	Won by 8 runs
11.06.05	WILLOUGHBY II	Н	Won by 2 wkts
18.06.05	WILSONS II	Α	Won by 5 wkts
25.06.05	LAMBLEY II	Η	Lost by 5 wkts
02.07.05	STANTON & AWSWORTH II	Α	Lost by 119 runs
16.07.05	CHILWELL II	Н	Won by 53 runs
23.07.05	BALDERTON II	Α	Won by 72 runs
30.07.05	UNDERWOOD II	Н	Won by 8 wkts
06.08.05	BASFORD HALL OLD BOYS	Α	Lost by 72 runs
13.08.05	WILLOUGHBY II	Α	Match abandoned
20.08.05	WILSONS II	Η	Lost by 8 wkts
27.08.05	LAMBLEY II	Α	Lost by 31 runs
03.09.05	STANTON & AWSWORTH II	Η	Lost by 62 runs

## 

		Pia	vv	L	WD	עו	NK	Pts	Ave
1	STANTON & AWSWORTH 11	18	13	1	1	0	3	265	17.67
2	BASFORD HALL OLD BOYS	18	12	3	0	0	3	239	15.93
3	LAMBLEY VILLAGE II	18	10	5	0	0	3	214	14.27
4	KEYWORTH II	18	8	8	0	0	2	182	11.38
5	WILSONS II	18	7	7	0	0	4	151	10.79
6	UNDERWOOD II	18	7	10	0	0	1	165	9.71
7	WILLOUGHBY II	18	8	9	0	0	1	136	9.07
8	BALDERTON II	18	8	10	0	0	0	141	8.81
9	NEWSTEAD ABBEY II	18	4	11	0	0	3	105	7.00
10	CHILWELL II	18	3	12	0	1	2	78	4.88

**HIGHEST SCORE:** 248-6 KEYWORTH II v BALDERTON II (23.07.05)

**LOWEST SCORE:** 51 KEYWORTH II v STANTON & AWSWORTH II (02.07.05)



2<sup>nd</sup> XI line up against Stanton & Awsworth II at home on 3 September 2005, left to right, back row...Pete Hardy, Duncan Tarran, Matt Burton, Liam Elliott, Dale Collison & Ben Elliott front row...Paul Lay, Ernie Lay, Andrew Cowlard (capt), Richard Drury & Dave Hallam.







Three veterans still in action...Ernie Lay (left above), Dave Hallam (centre) & Richard Drury (right).

2 <sup>nd</sup> XI BATTING Averages (qualification: 6 Completed Innings)								
		8 (1	Matches	Innings	Not Out	HS	Total Runs	Ave
ELA	ΑY		16	15	2	105*	487	37.46
T SP	ENCE		10	9	1	88*	180	22.50
PLA			15	13	2	51*	217	19.73
	URTO	N	16	14	2	58	203	16.91
	OWLA		15	11	1	52	164	16.40
	ALLAN		14	10	3	19*	111	15.85
	EATO		8	7	1	20	73	12.16
	EGGE	KL21	15	8	1	26	74	10.57
	ARDY		12	10	1	35	65	7.22
Also Batted	IKD I		12	10	1	33	03	1.22
B EI	LIOT	Γ	2	2	0	48	50	25.00
	RURY		6	4	0	52	94	23.50
	EAKE		2	2	1	40	40	20.00
A BA			4	4	0	33	73	18.25
	LIOTT	Γ	9	7	3	24*	45	11.25
	ГСНIN		2	2	0	13	21	10.50
S MI		2011	1	1	0	9	9	9.00
	ALDRE	EΥ	8	5	0	19	35	7.00
	ETON		12	6	1	11	30	6.00
	URST		2	2	1	4*	6	6.00
	OLLIS(	)N	1	1	0	4	4	4.00
	ILLER	511	2	2	1	4	4	4.00
	ARRAN	J	8	5	4	2*	4	4.00
S DA		`	1	1	0	2	2	2.00
	AF I RIFFIN		1	1	0	2	$\overset{2}{2}$	2.00
				1	1	0*	0	0.00
	REEN		2					
A RI			1	1	0	0	0	0.00
Best off the Bat				0			<b>3</b> .7	D.
Runs		yer	* 7	Opposition			Venue	Date
105*		LAY	V					23.07.05
88*		SPENCE	V					20.08.05
72		LAY	V			D DOLLA		16.07.05
64		LAY	V		D HALL O	LD BOYS		04.06.05
58	M	BURTON	V	CHILWE	ELL II			14.05.05
Best Batting Par	rtnersł	nins of the S	Season					
Dest Dutting I u	Runs	Partners	<b>504</b> 5011		Oppositi	ion		Date
1 <sup>st</sup> wkt	45		R DRUR	Y		UGHBY II		11.06.05
2 <sup>nd</sup> wkt	68		M BURT		CHILW			14.05.05
3 <sup>rd</sup> wkt	100							23.07.05
4 <sup>th</sup> wkt	98		& M BURTON BALDERTON II NCE & P LAY WILSONS II					20.08.05
5 <sup>th</sup> wkt	98 50		T SPENCE & P LAY			BASFORD HALL OLD BOYS		
6 <sup>th</sup> wkt	50 C LEGGE & P LAY 54 E LAY & D BALDREY				BALDERTON II			
o wkt 7 <sup>th</sup> wkt								
7 wkt 8 <sup>th</sup> wkt	33		D HALL			BALDERTON II		
	16					BASFORD HALL OLD BOYS 04. BASFORD HALL OLD BOYS 04.		
9 <sup>th</sup> wkt	34		z J BEETO					04.06.05
10 <sup>th</sup> wkt	9	L ELLIO	TT & A G	REEN	NEWST	EAD ABB	EY III	30.04.05

## Leading "6" Hitters of the season...

A COWLARD 3
P LAY 3
D HALLAM 2
E LAY 2
I GREATOREX 1

## $2^{nd}$ XI BOWLING Averages (qualification 8 wickets or 60 overs)

	Overs	Maidens	Runs	Wkts	Ave
T SPENCE	88	17	249	19	13.10
M BURTON	89	13	340	22	15.45
C LEGGE	71.1	9	334	20	16.70
L ELLIOTT	75.1	4	290	15	19.33
A COWLARD	153	30	481	21	22.90
D HALLAM	134	33	364	14	26.00
Also bowled					
R DRURY	11	0	56	5	11.20
J BEETON	38	4	141	6	23.50
I KITCHINSON	18.5	0	72	2	36.00
D COLLISON	6	0	29	0	0.00
A HILLER	22	4	81	2	40.50
S MEEK	8	0	42	0	0.00
Doct with the Dell					

## Best with the Ball...

Figures	Player		Opposition	Venue	Date
7-26	C LEGGE	V	WILLOUGHBY II		11.06.05
6-38	T SPENCE	V	BALDERTON II		23.07.05
5-43	L ELLIOTT	V	STANTON & AWSWORTH II		02.07.05
4-28	M BURTON	V	UNDERWOOD II		28.05.05
4-26	C LEGGE	V	UNDERWOOD II		30.07.05

## 2<sup>nd</sup> XI CATCHING & STUMPING:

	Catches	Stumpings
E LAY	9	7
M BURTON	6	
A COWLARD	6	
R DRURY	6	
I GREATOREX	4	
J BEETON	3	
D HALLAM	2	
P HARDY	2	
P LAY	2	
C LEGGE	2	
T SPENCE	2	
D BALDREY	1	
A GREEN	1	
S GRIFFIN	1	
A READ	1	